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4100 [=2 1,291 & 17,674 =2 136,749 o 0]
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X+:(4000) 21 et b ZH:(4100) LIt 22l t:(4110) 0182 22 Mg (4111) e e 2re) HIAIEE: (210) 2 & AL EEMEEERCE]
2 = & 4" & H m
ol A o | - A = 5 z
I 2 S MIE L AIAIE =2 O]l & oM = A
(2) 4,200
402
0I2HKHE0| 30,000 10,000 20,000
bS]
30,000 10,000 20,000|01 QIZ2HAH=2E X
Oplgre Algnie 84 = 30,000
() 9,000
() 21,000
405
KHAE S 1,300 1,709 2409
1,300 1,709 A409(01 KA 2 EF S
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ORI &HIE2 1,800
0 OlSAl YA = 1,200
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ZH:(4000) el =il 2t:(4100) 1< 22l g (4110) el 2el NI (4112)HI & CH A MIAIE: (120) 2 &t = FH 2] [ HH]
o = S B im)
of & o AF 2 ol =
.2 HE AME = Of & o = A2
4000 [= 0= 6.720 = 55,780 = 0]
0122l 62,500 21,500 41,000 [2I 0 = 0 u 0 ]
4100 [= 0 & 6,720 = 55,780 = 0]
ol 2teltl 62,500 21,500 41,000 [2I 0 = 0 0 ]
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X0l &
13,440 0 13,440\03 OBl Z2=d X XAH=2E2x
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2 = & 4" & H m
ol A o | - A = 5 z
I 2 S MIE L AIAIE =2 O]l & oM = A
OXSbH 2 LK = 13,440
() 6,720
(2) 6,720
220
XEHI A 42,260 10,000 32,260
308
RXISHH S 5,000 0 5,000
ol
5,000 0 5,000/07 O 2SS XATAEX
OE&tY28 o35 29| = 5,000
403
XIS S 37,260 0 37,260
X0l &
37,260 0 37,260|03 MIHIZSAXKX=EBX
OSeee Q23 SE0MH 2 SHAMY 37,260
o RH2AX = 17,720
0 SEYURM X = 12,040
o NsEd 14 = 7,500




ZH:(4000) el =il 2h:(4200) A2l &h:(4210) A gl Mg (4211) A atel NIAIE: (120) B & = I (=3[ dE]

t = PSTRE I == e Im]
o & & At = 0 z
X 2B MELMAIE = o & = oA
4000
018t 2| 31,200 0 31,200
4200
A ghakely| 31,200 0 31,200
4210
Agrae| 31,200 0 31,200
4211
A8hDtp) 31,200 0 31,200
100
3 A0 A 5,000 0 5,000
120
FAE A 5,000 0 5,000
301
QEtgE A2 5,000 0 5,000
5,000 0 5,000/03 2|2 AKX AZH|
OsIMAs ESHA ZAY| 5,0002x100% = 500
OAagtold oz A8l ALK 10,0003 x400H = 4,000
OolgAgll I3RS &K
10,000 x50¥ = 500
200
AR O AF 26,200 0 26,200
220
KA AFRY 26,200 0 26,200
401
ANAEH LS 15,800 0 15,800
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